6GA4
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HERALAOH
Ors
G K
Eh=6.3V Ih=0.75A
Max Operating
Eb=350V Ploss=13W
Ec=-100V

Rg1=250k(Fixed), 500k(Self)
Ehk+=100V Ehk-=100V

Class A1 Amplifier

Eb 250V
Ec2 -
Ec -18.5Vv
Rg -
gm 7000mo
Rp 1.4k

10
RL 5k
Ib 49mA
Ic2 -
EsigRMS 13V
Po 2.2W
THD 5.0%

280V

-21.5V

5k
57mA

15V
3.2W
5.5%

6F6GT

Eh=6.3V 1h=0.7A

Max Operating

Eb=375V Ploss=11W

Eb=350V Ploss=10W (triode)
Ec2=285V  (C2loss=3.75W
Ehk+=90V Ehk-=90V

Class A1 Amplifier Triode
Eb 250V 285V 250V
Ec2 250V 285V Triode
Ec -16.5V -20V -
Rg 410 440 650
gm - - -
Rp - - -
RL 7k 7k ak
Ib 34--35mA 38mA 31--32mA
Ic2 6.5--9.7mA 7--12mA -
EsigRMS - - -
Po 3.1W 4.5W 0.8W
THD 8.5% 9% 6.5W

Eh=12.6V 1h=0.15A
6.3V 0.3A

Max Operating

Ebmax=300V Ploss=2.5W

Ecmax=50V

Ehk+=90V Ehk-=90V

Class A1 Amplifier

Eb 100V
Ib 3.7mA
Ec -5V

Rk 270
Rp 15k
gm 4000

60

250V
10mA
-12v
200
10.9k
5500
60

Eh=12.6V 1h=0.15A

6.3V 0.3A
Max Operating
Ebmax=300V Ploss=1.0W
Ecmax=50V lkmax=8mA
Ehk=180V

Class A1 Amplifier

Eb 100V 250V
Ib 0.5mA 1.2mA
Ec  -1.0V -2.0V
EgMax--- 1.3V
Rp 80k 62.5k
gm 1250 1600
100 100

0.047uF 250V

6V6GT I
1T
10kQ 1/4W 100kOA
A \ AVAAV
W Low Frq.
6GA4
12A%7 6V6GT
6F6GT LUX
- - L=258V SS5B-5
Eh=6.3V 1h=0.45A R=258V
Max Operatin 6GA4=262.7V
p e] 0.22uF 6F6 = 267.4V 120
Eb=315V  Ploss=12W SOV 6V = 267413 grepgs oy Speaker
Ec2=285V  C2loss=2W Drop 1,5 48VEFLRe 4V 605
1T 80 S k
I: ~—" 6F6 = 7.0mA 40 Qutput.
6V6 = 3.8mA
Ehk+=90V 6cad=17.6v] 2 )\ p 176y o
6F6 = 17.1V4——1 L2V R=17.
6V6=16.1V| ;o
Class A1 Amplifier Zaa0ka 3900 4T04F
GAIN 12W sW 50V
Eb 250V 315V 100KOA | MUSE KZ
Ec2 250V 225V HoGA4 = 46.2mA
Ec -12.5V -13v BV6 = 41.3mA
Rg _ - mr mr
gm 4100mo 3750mo
Rp 50k 80k 10.9mA t47mA
} _ 242.7V 6GA4 = 286.0V|285V
=237V 6F6 = 286.3V|L=275V
R=237V 6V6 = 286.7V|R=275V
RL 5k 8.5k 4%}) ;v;v;v)
b 45--47mA 34--35mA + +
100uF 400y W (0.04W) 100pF 400V 3W(0.1W)
Ic2 4.5--7TmA 2.2--6mA Matsushita TK
) XA105 '
EsigRMS - - B 295V
Po 45w 5.5W o ‘ 2
o
0, 0,
THD 8% 12% Pl‘_’l‘j";r LUX LUX
4A32
S—1018v 4BC10
L R 280V 324V
244V N 306V, _—103mA
100v_ 90V 10H ] eo¢
51\;\; Ty PS2010R DCR=279.2 Z10k0 3w
oV + + + 236.4V
DC115mA 47uF 47uF 100pF <=
450V 450v | 450v = 10kQ3W
177.8V
6.3V
Jao S2010R =10kQ 3W
SIav _ 119.2v
280V ideal=63V = 10kQ 3W
tont 6GA4x2 3A 573V 0.6V
Orange 5V LEL 12AT7x2 1 =10ka 3w
= [Sa T 4 Chasshis 2.0V 1.96V
— [ [ >3 Eart ;Operate
3A Green
: 2.0V
nL 5.86mA
Ploss G2loss
6GA4 =11.3W/ 13W = 87% -
6F6=  9.2W/11W =84% 1.9W/3.75W
6V6= 9.4W/12W =78% 1.0W/2.00W



